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rotor = [ #IX R BEIGA HIE YL JE 16 1
"ZWAXJGDLUBVIQHKYPNTCRMOSFE", "KPBELNACZDTRXMJQOYHGVSFUWI",
"BDMAIZVRNSJUWFHTEQGYXPLOCK", "RPLNDVHGFCUKTEBSXQYIZMJIWAO",
"IHFRLABEUOTSGJIVDKCPMNZQWXY", "AMKGHIWPNYCJBFZDRUSLOQXVET",
"GWTHSPYBXIZULVKMRAFDCEONJQ", "NOZUTWDCVRILXKISEFAPMYGHBQ",
"XPLTDSRFHENYVUBMCQWAOIKZGJ", "UDNAJFBOWTGVRSCZQKELMXYIHP",
"MNBVCXZQWERTPOIUYALSKDIFHG", "LVNCMXZPQOWEIURYTASBKIDFHG",
"JZQAWSXCDERFVBGTYHNUMKILOP"

cipher = "NFQKSEVOQOFNP"  #XEEMAZLHIZFXL
key = [2,3,7,5,13,12,9,1,8,10,4,11,6] #XEEMAEZLYEFEL
tmp_list=[]

for i in range(9, len(rotor)):
tmp=""
k = key[i] - 1
for j in range(9, len(rotor[k])):
if cipher[i] == rotor[k][j]:
SR N==
tmp=rotor[k]
break
else:
tmp=rotor[k][j:] + rotor[k][0:7]
break
tmp_list.append(tmp)
# print(tmp_List)

message_list = []

for i in range(9, len(tmp_list[i])):
tmp = "

for j in range(@, len(tmp_list)):
tmp += tmp_list[j][i]

message_list.append(tmp)

print(message_list)

def spread_list(lst):
for item in 1lst:

if isinstance(item, (list,tuple)):

yield from spread_list(item)

else:
yield item
pass
if _name__ == ' _ main__ ':

for i in spread_list(message_list):
print("*"*25)
print(i)  #ZZ M P ERF FXIFHE RS Lag A

fi#te, #AL.



	攻防世界 crypto 入门题之转轮机加密
	攻防世界 crypto 入门题之转轮机加密


